Rang Dos UCI ID N° Licence Nom Prénom 3 Nom du Club/Code équipe Catégorie 4 Temps 4 Ecart
1 106 10024170461 | 49500100372 [DEROFF Eric AS TOURLAVILLE CYCLISME Pass'Cyclisme 0:00:00 0:00:00
2 103 10024810863 | 49502310131 [BISSON Philippe LA VALOGNAISE CYCLISME Pass'Cyclisme 0:00:00 "
3 114 10024683147 | 49501430076 [DUQUET Jean Francois|AG HAYE DU PUITS Pass'Cyclisme 0:00:00 "
4 119 10024441152 | 43351040034 [HERMAN Bruno VCS LOUVIGNEEN Pass'Cyclisme 0:00:00 "
5 109 10051632676 | 49505180100 [LECOMTE Frangois MOYON CYCLOSPORT Pass'Cyclisme 0:00:00 "
6 118 10050606193 | 49502170300 [TRAVERT Julien UC BRICQUEBEC Pass'Cyclisme 0:00:00 "
7 122 XXX 49501430098 |LEDARD Pierrick AG HAYE DU PUITS Pass'cyclisme 0:00:00 "
8 121 XXX 49500930318 [QUERNIARD [Pierre ES TORIGNY Pass'cyclisme 0:00:00 "
9 110 10026211404 | 49501010254 [LECANU Eric CS VILLEDIEU Pass'Cyclisme 0:00:00 "
10 101 10026832507 | 49501960042 [AUMOND  [Guillaume  [ACC MARIGNY Pass'Cyclisme 0:00:00 "
11 105 10027596480 | 49500100444 [DA CUNHA |Lionel AS TOURLAVILLE CYCLISME Pass'Cyclisme 0:00:00 "
12 104 10024734374 | 49502310069 [RAYNEL Etienne LA VALOGNAISE CYCLISME Pass'Cyclisme 0:00:00 "
13 116 10051637629 | 49505010057 [PERRIN Ludovic EC MONTEBOURG Pass'Cyclisme 0:00:00 "
14 111 10091223430 | 49504650104 [DANGUY Hugues PERIERS CYCLISME Pass'Cyclisme 0:00:00 "
15 117 10075271273 | 49500410148 [GOHIN Sébastien AG ORVAL COUTANCES Pass'Cyclisme 0:00:00 "
16 108 10090852103 | 49505180174 [HERBERT Frédéric MOYON CYCLOSPORT Pass'Cyclisme 0:00:00 "
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